Converting Permeability Units

The principle of conservation of units is used.  Briefly stated, this principle is that to convert a relationship (an equation) from a given system of units to another (a required) system of units, the given units must be conserved.  The technique is illustrated below.
We wish to convert 
[image: image11.wmf] from Darcy units (d, cm, s, cp, atm) to Oilfield units (md, ft, bbl, day, cp, psi).  Here, Darcy units is the given system and Oilfield units is the required system. 

First, find the dimension of the “hidden constant” in the given equation.  In other words, 
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 has dimension kAp divided by qL [1].

Next, consider the units of the hidden constant—the given units are
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 and the required units are
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Now, convert the given units of the hidden constant to the required units. 
 

Thus,
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Converting from Darcy units to other systems of units is similar.

Summary of Darcy equations for horizontal, linear flow (including conversion factors):

	Darcy Units
	SI Units
	Oilfield Units
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     NOTE:  A m2 is a huge permeability unit!  There are 1.01325 x 1012 d/m2.  

 

       Thus, the SPE preferred SI unit for permeability is a m2, introducing 

                               a factor of 1012 in the equation.

� EMBED Equation.3  ���
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